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1. W% Tevh R SRisa/ e i erpEzd Ted
ferar 1x8=8

Choose the correct answer/Answer the
following questions :

(@) SRR I3 PO 2
The primary problem of economics is
(i) 7S TS IG5

the efficient allocation of resources
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(b)

(c)
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(2)

(ii) SR BaresI
identification of wants

(iii) >fdF o[ [T TP
greatest possible satisfaction of
wants

bﬂ@mﬂmw

problem of scarcity

A RN [@4S SRS (WO 2

The production possibility  curve
involves the combination of

() <51 D S 9GO Somi
one commodity and one factor
il o1 T
two commodities
(iti) o1 ST S 71 S
two commodities and two factors
(iv) Yo T

two factors

qTE SR QA WA I IR SRR
fefegree et el fF7 gt 3% |
Draw a demand curve whose elasticity

of demand is greater than zero but
less than one.
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(3)

(d) ﬁmwmmmwm,
o3 TRy 24

If the cross-elasticity of demand is less
than zero, then the goods are

() MR
complementary

(ii) AfSFH
substitute

(iii) TS
non-related

(iv) SRS qo18 =

None of the above

(e) TRTr® @1 4RO q 9O GIoo |

The indifference curve approach is
associated with

‘ () g
Marshall
(i) iz
Pigou
() =%
Hicks
fiv) ==

Keynes
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‘ (4.)

N =S I I B =2
' What do you mean by real cost?

(@) CICEHA I|R[S FOR RN 2

In monopoly market, the number of
buyers is

\ )
one
(i) =S
two
(iii) TSI
few
(iv) SR

large

| (h) Tgo oifXwR stE e
i

Define derived demand.

2. ©He o R s wfer 53 G &
(o™ 150 === TT=%°) - 4x4=16
Write short notes on any four of the following
(within 150 words cach) :

) SEESE Wty R TEgTEE

-~

General features of economic model
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(5)

) IES BT AR

Determinants of individual demand

(c) JCEs AfSTTE

Budget constraints

(d) @3 AfSSR SR SLE

Equilibrium condition of a firm

(e) TEMFR TRATEIETS!
Productivity of an input

o 2T T v (2ifCET 500 R feeTe) -

Answer the following questions (within 500 words
each) :

3. (@) Tz R SRS S Il A ? AT
wazR RfSa Az Ao 340 | 5+6=11

Why should people study economics?
Explain different types of economic
system.

H<T /Or

< —

(b) T s g7 wwpaz B 2 A
\ﬂz'\ r:'., LR ié‘ic:} W %’4"2"7‘9 ﬁs‘gﬂz
ALALEE SN 2+9=11
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4. (a)

(b)
S. (a)
23/243

e

(6)

What are the main goals of micro-
economics? Explain various types of
microeconomic analysis with suitable
diagram.

VR W Rfweee, W ffewemer A<
fode RfSmemrer qRame2s o 311 B
IRA WS @ees =g, far 911 9+3=12

Explain the concepts of price elasticity,

Income elasticity and cross-elasticity

of demand. Describe their uses in
economics.

¥2<§T / Or

TETS TRA P o T vz S
MIF S| BiRM @ Ry B =2
iR g 751 afeaw Sraw <=1 3+7+2=12
Distinguish between individual and
market demand schedule. Why does
demand curve slope downward? Write
two exceptions of law of demand.

RRers @@ 32 fReesrs @ve Rfes =FEmEs
Igﬁﬂﬁ R <97 1 2+9=11

What is indifference curve? Explain
various properties of indifference curve
with diagram.
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(b)

(b)
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241 /Or

IR R o afSsw Rees wcm @
Fofde 7 WF P8 R crae 9w R
R =, RIT <41 3+8=11

Define income effect and substitution
effect. Explain the income effect in case
of normal good and inferior good.

ifYe fleafier {2 e foafer =<
Sftegfe AR Fa1 RS IR THRIATR
oY 1 40 2+5+4=11

What are economies of scale? Explain
briefly about various factors leading to
economies of scale and diseconomies of
scale with examples.

/%<1 / Or

IW Tos ToE E 1 e E ffen
R B we o @ RIPTE
HBSTFE AR 9 | 1+5+5=11

Define cost function. Explain various
short-run cost concepts and show their
interrelationship with suitable diagram.
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(8)

7. (@) ISR AT TAMANTS] SGLOR FACHCATIS
T HTSRACGIT | 11

Give a critical analysis of the marginal
productivity theory of distribution.

=<7 /Or

(b) =TI TR T Q@ RIS 1 Rfew =¥
HF SH-HRE SomeeER I I TR
IS @ @ @3 fAmE SEEe [
PO = 2 [IRHT AT | 8+3=11

Describe about the economic and
non-economic factors on which changes
in the demand for and supply of labour
depends. Why does the individual
supply curve of labour become
backward bending after a certain point?
Explain.
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